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St. Mary’s Convent Girls High School

2" Semester Vacations Syllabus 2020 for Class 6 P/G/B

Subject: Computer

Chapter # 2: (Introduction to Windows)

0.5 Give brief answers to the following questions:

Vi) What is a file? Write the parts of file with an example.

Ans: Afile is a collection of data that is stored in a computer. There are different types of files such as text
files, graphic files, sound files and program files, etc. Files can be stored in various storage devices
such as Hard disk, Flash memory drive, CD and DVD drives.

A file consists of two parts: name and type. Suppose you want to save a picture of your friend and
give it a name “picture”. Computer will save it as picture.jpg.

(Note: Also draw the figure of this question on notebook. Pg. # 41)

vii)  How can a user create a folder using right click menu?
Ans: 1. Right click anywhere on the desktop.
2. Right click menu appears.
3. Move mouse over the NEW.
4. Click the Folder option.
5. The new folder appears, displaying a temporary name (New Folder).
6. Type a name for the new folder (for example, My Work) and press enter.
7. A folder with the name My Work has been created on the Desktop.
viii)  What is the importance of folders? Explain briefly with an example.

Ans:  Suppose, Ali is looking for his Math book from a big pile of books. He will have to sift through the
pile of books to find Math book. The same thing can happen if someone does not use folder to store
data.

Ali can arrange books in the bookshelves.
Shelf 1: Islamiyat Books
Shelf 2: Urdu Books
Shelf 3: English Books
Shelf 4: Math Books
Shelf 5: Science Books




When Ali wants to look for a particular book, it is now much easier to find because they have been
organized into several categories. Similarly, data in a computer can be organized in the same way
with the help of folder.

Several folders can create in a computer for example.

Math English Computer Science
Math folder English folder Computer folder Science folder
Contains files related Contains files related Contains files related Contains files related
To Mathematics to English to Computer to Science

Xi) Write the names of five different parts of a window.
Ans: Different parts of window are as follow:

Desktop

Start Button and Start Menu
Taskbar

Notification Area

Desktop Icons

ok

X) What are icons? Write names of the desktop icons.

Ans) Icons are small images that represent different types of program and files. Desktop contains different
types of icons. Following are the main four icons of the desktop.

1. My Documents
2. My Computer
3. Recycle Bin

4. Internet Explorer

Chapter # 3
(Commonly Used Software)
(Practical Chapter)
Note:
Obijective of this chapter is also included in syllabus: (Q1 and Q2).

Solve these questions on book.




Note:

Chapter # 4
(The Internet and World Wide Web)

Solve the Q1 and Q2 on book.

0.3 Define the following:

Ans:

Vi)

Ans:

Internet:

A internet is a system of interconnected computers that communicate with one another and share
application, data and hardware components.

World Wide Web:

The World Wide Web is the most popular service provided by internet. It is also known as “The
Web”. The Web is the collection of web pages on the internet.

DSL.:

DSL is a high speed internet technology that runs over standard phone lines. It is one of the fastest
and affordable internet connections. A DSL modem is connected to the computer with a network
card.

Web Browser:

Web browser is software that is used to access World Wide Web. We can access and view different
web pages or websites using a web browser.

Web Site:

A website is a collection of related web pages. Each website contains a number of documents or
files. The very fast page of the website is known as Home Page.

URL.:

URL (Uniform Resource Locator) is an address of a web page on the internet. Every web page has a
unique address. A web page can only be accessed if we know the URL of the page.

0.4 Give brief answers to the following questions:

)
Ans:

List five uses of the internet.

The most commonly used internet services are shown below:
Shopping

A user can buy and sell things on internet while sitting at home.
E-mail (Electronic Mail)

A user can send and receive electronic messages and files to anyone in the world using E-mail
service.




e Chatting

A user can chat with anyone using his service. Chat room is a location on internet that allows users
to chat and share ideas with one another.

e News

A user can read a newspaper online. A user can access web sites or different news channels to keep
themselves update.

e Education

A user can access books and articles of any subject on the internet. A user can take online lectures
and training on different subjects.

i) Write steps to connecting to the internet.

Ans: Following are the requirements to access the internet.

1) Computer

2) Modem

3) Telephone/Cable TV Line

4) ISP (Internet Service Provider)
5) Web Browser

i) Define modem and its types.
Ans: A Modem is a device which is used to connect and communicate with other computers.
There are two types of modems:

1) Internal Modem

Placed inside system unit used for dial-up connection.

2) External Modem
Placed outside system unit used for DSL and Cable modem connection.
iv) Write names of some popular web browsers.
Ans:  Some popular web browsers are:

Microsoft Internet Explorer
Mozilla Firefox

Google Chrome

Opera

V) What are the major differences between Dial-up and DSL connections?

Ans:

Dial-up DSL

Dial-up connection is a technology that helps a user | DSL is a high speed internet technology that runs
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to connect to the internet using standard telephone | over standard phone lines. It is one of the fastest and
lines. A user can access internet by plugging in | affordable internet connections. A DSL modem is
telephone line in the modem. It is a slow speed and | connected to the computer with a network card. In
expensive technology in this type of connection | DSL connections, telephone line remains free to
telephone line remains busy, one cannot make calls. | make calls.

Vi)

Ans:

vii)

Ans:

viii)

Ans:

Ans:

Ans:

How we can access websites in Microsoft Windows?
1) Open Internet Explorer

2) Type the URL www.google.com in the address bar.

3) Press Enter key.
4) The web page of Google appears.
Describe Cable Modem Internet connection.

Cable modem service is a technology that helps users to connect to the internet using their cable TV
wire. It provides a high speed connection as compared to the dial-up modems. It provides an “always
ON” connection. It means whenever a computer is powered on the connection is “ON”. Cable
modem can be connected to the computer with the network card.

Describe the function of Refresh, Next, Back and Stop buttons in internet.
Functions are described below:

Refresh Button

A web page is re-loaded by clicking the button.

Stop Button

You can stop the browsing of a web page by clicking this button.

Back and Forward Button

These buttons are used to go back and forth among pages of a website or multiple websites. These
buttons enables only when user visits more than one page.

How can we search a web page using Search Engine?
Using Google Search Engine:

Open Internet Explorer.

The home page of the browser opens. By default MSN is set as home page of internet explorer.
Type the URL www.google.com in the address bar and press enter key.

The web page of Google appears.

Type “Pakistan Cricket Team” in the search bar and click the search button.

List of related web pages or web sites appears.

Write names and URLs of some popular search engines.

Some of the most popular search engines are listed below:

MSN (www.msn.com)
Yahoo (www.yahoo.com)
Google (www.google.com)
AltaVista (www.altavista.com)
Ask (www.ask.com)

Page 5



http://www.google.com/
http://www.google.com/
http://www.msn.com/
http://www.yahoo.com/
http://www.google.com/
http://www.altavista.com/
http://www.ask.com/

0.5 Differentiate between the following:

1) Internet and World Wide Web

Internet

World Wide Web

The internet is the largest network of computers
around the world. It connects many smaller networks
together allows all the computers to exchange
information with each other.

The World Wide Web is the most popular service
provided by the internet. It is also known as “The
Web”. The Web is the collection of web pages on the
internet. It contains a variety of information that can
be accessed by the people all over the world.

i) Chatting and Instant Messaging

Chatting

Instant Messaging

A user can chat with anyone using his service. Chat
room is a location on internet that allows users to
chat and share ideas with one another.

A user can chat with his/her online friend using the
service of instant messaging. Some IM services also
provide audio and video conversation.

iii) Web Page and Website

Web Page

Website

A Web page is a document on the World Wide Web.
It can contain text, graphics, audio, video and links
to other pages.

A website is a collection of related web pages. Each
website contains a number of documents or files.

iv) Telephone Modems and Cable Modems

Telephone Modems

Cable Modems

Dial-up connection is a technology that helps a user
to connect to the internet using standard telephone
lines. A user can access internet by plugging in
telephone line in the modem. It is a slow speed and
expensive technology in this type of connection
telephone line remains busy, one cannot make calls.

Cable modem service is a technology that helps
users to connect to the internet using their cable TV
wire. It provides a high speed connection as
compared to the dial-up modems

V) Web Browser and Search Engine

Web Browser

Search Engine

Web browser is software that is used to access
World Wide Web. We can access and view different
web pages or websites using a web browser.

Search engine is a program that is used to find web
pages and websites on the internet. When we type a
word or phrase, the search engine will shows the list
of websites with related information.
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Saint Mary convent girls high School

Class 6" Final Term Subject: Science
Unit#7 Solution and Suspensions
Objectives;

Ex:1 Write proper term or word,;
1. A substance in a solution in a solution that is dissolved solute

2. A solution in which no more solute is dissolved saturated solution

3. A substance that takes in , or dissolves the other substance solvent

4 A solution with less quantity of solute dilute solution

Ex:2 Circle the best answer:pg75.

Ans :1. (c) concentrated .2.(a) salt and water.3 .(a) .increasing the temperature.

4 .(b) .suspension. 5.(d) . water.

Answer the following questions in short :

Q1. Define the following terms:

1.solution. 2. Solute. 3. solvent. 4. Aqueous solution. 5. Saturated solution.
1. Solution. A solution is a homogenous mixture of two or more components.
Example ; The mixture of salt in water is a solution.

2 .Solute. The substance in less amount is called solute.

Example: In a solution of water and salt , salt is the solute

3.Solvent . The substance in which solute is dissolved is called solvent ,The solvent is always
more in quantity than a solute .

Example Ina solution of water and salt water is a solvent.

4.Aqueous solution. A solution in which water is the solvent is known as aqueous solution.



5.Saturated solution. A solution: in which the solvent cannot dissolve any more solute at a
particular temperature is called a saturated solution.

Answer the following questions in detail:
Q.1 Explain the states of matter? Also draw the diagram.from pg68.(solid, liquid, gas)
Ans: Matter exists in three states :
1. Solid
2. Liquid
3. Gas
We can explain states of matter in the light of Particle model.
1. Solid :  Particles in a solid held together strongly .There are very little space among them.

Particles do not move freely. They only vibrate in their fixed position. That is why , a solid has
a fixed shape and fixed volume .

2. Liquid : Particles of liquid are less close to each other than a solid . Space among the
particles are greater than solids. Particles move freely and collide each other , But, particles do
not leave the liquid. That is why, A liquid has fixed volume but no fixed shape.

3. Gas: There are large space among the particles of gas .Particles move freely in the space
they have . Particles may leave the gas , If it is not enclosed in a container. That is why , a gas
has no fixed shape or volume.

Q.2 Explain the formation of solution in the light of particle model of matter.
Also draw the diagram from pg 69.e

Ans: We can explain the formation of solution in the light of p article model of matter. When
we dissolve salt in water , forces of attraction between salt particles become weak . These
particles of the salt spread among the spaces between water molecules ,It is because of the
constant motion of particles of water .Every part of the solution becomes same.

Q.3 Prove that water is a universal solvent .
Ans: Water as a Universal Solvent

Most of the things dissolve in water easily .\We can say that water is a very good solvent :



1. Sugar,rock salt and Sodium bicarbonate (meetha soda) , etc. dissolve in water .
2. Milk, alcohol , lemon juice , vinegar and apple juice dissolve in water .

3. The food we eat forms a solution in the body and then absorbs in the blood.

4. Plants absorbs minerals from the soil that are dissolved in water.

5.0xygen gas dissolves in water ,It keeps aquatic animals alive.

Therefore, We can say that water is a not just a solvent but a universal solvent.
Q.4 What is solubility ? How does temperature affect the solubility ?

Ans: The amount of solute in grams dissolved in 100 grams of the solvent at a given
room temperature is called its solubility at that temperature .

Solubility affect the temperature in following manner:
Take 100 grams of water in beaker and make saturated solution of sodium chloride ,

(table salt) at room temperature . Start heating the solution on a spirit lamp .Now add
some more salt in the solution and stir , this amount of salt is dissolved in this hot
solution .It means the solubility of a solute increases with increase in temperature.

Q.5 . Compare the properties of solution and suspensions.

Properties of solution and suspensions

Solutions Suspensions
1.particles of solution do not settle out 1.particles of solute settle down on standing.
2. particles pass through ordinary 2. Particles can be separated by ordinary filter
Filter paper paper.
3. light rays do not scatter on passing 3. light rays scatter on passing through the
Through the solution. Suspension.

Unit #8 Energy and Its Forms.
Objectives:

Ex.1. Write proper term against each statement:




Ans: 1. The fact that energy cannot be created or destroyed conservation

Of energy.
2. kinetic energy of flowing water that is transformed hydro-electric energy.
Into electricity.
3. A mixture of gases formed by the decay of animal bio-gas.
Waste and water.
4. The energy possessed by a stretched rubber band. Potential energy.
5. Energy coming from the sun. solar energy.

Ex #2. Circle the best answer.

Ans. 1.(b) Kinetic energy. 2. (d) potential energy. 3. (d) electrical to
mechanical energy. 4. (c) the energy of motion produces waste heat .

5. (a) kinetic energy.
Ex#3. Answer the following questions in short:
Q1. Define energy.

Ans: Energy is the ability to do work. Energy makes change possible. We use it
while doing things for example .1ts cooks our food and keeps ice frozen in the
freezer ,Energy is needed for our bodies to grow.

Q2. What is the difference between potential and kinetic energy?

Ans: Potential energy: potential energy is the energy that is stored in an object
due to its position . It is written as P.E.

Example: The energy in the wound up string of a toy car is potential energy .This
energy can cause the toy car to move.

Kinetic energy: Energy in a body due to its motion is called Kinetic energy.
It is written as K.E.

Example s: A moving bus and running tap water possess kinetic energy.Flowing
water in river can move things in it . It has kinetic energy.



Q3.Name the different forms of Potential energy?

Ans: Forms of potential enerqy

There are several different forms of energy:

1. Chemical energy 2. Stored mechanical energy.
3.Gravitational energy 4. Nuclear energy.

Q4. Name the different forms of Kinetic energy?

Ans: Forms of Kinetic enerqy

There are several different forms of Kinetic energy:
1. Heat energy 2. Light energy

3.Electrical energy. 4. Sound energy.

Q5. Define “Law of Conservation of energy”.

Ans: Law of Conservation of energy.

Energy cannot be made nor it can be destroyed but energy can be change from one
form to another .This fact is known as the “Law of Conservation of energy”.

Answer the following questions in detail:
Q1.Describe at least two renewable sources of energy.

Ans: Sources of energy that can be recovered are called Renewable energy
sources.They include Wood,Water,Wind Animal Wastes, Sunlight and tides of
sea..

1.Hydro-electric Energy.

The Kinetic energy of flowing water is transformed into electrical energy.This
energy is called as hydro-electric energy. Dams are built to obtain this energy.

The water required for producing hydro —electric energy is available free of cost .
Hydal power stations do not add pollution to atmosphere.

2. Bio-gas.



Bio-gas is a mixture of gases. These gases are formed by the decay of animal
wastes and water. A biogas plant is used to produce this gas .Biogas can be used as
a fuel in homes.We can use the remaining material as a fertilizer. The plants for
biogas is called gober gas plant.

Biogas is cheaper than any other fuel.lt produces less pollution as compared to
coal and petroleum.

Q2. Write short note on the Energy converters.
Ans: Energy Converters:

Energy can changes it forms. Scientists have developed such devices which change
the form of energy. These devices are called Energy converters or energy
changers. We use many energy converters in our daily life :

1. A lamp is an energy converter. It changes electrical energy to light energy.

2. A television converts to electrical energy to light energy (picture) and sound
energy.

3.A radio is a good example of energy converter .1t changes electrical energy to
sound energy.

4.A electric drill is used to make holes in wood and metal. A drill converts
electrical to mechanical energy .

5.Washing machine is common energy converter which is used in our homes .It
changes electrical energy to mechanical energy.

Unite#9 Forces and Machines.
Objectives:

Ex#1 Write proper terms or word against each statement:

1.Wheel and axle, pulley, gear simple machine
2. Two or more gears working together gear train

3.A grooved wheel which moves around an axle pulley
4. Helps to rotate object faster and easily wheel

5. A wheel of a smaller diameter in wheel and axle axle



Ex#2 Circle the letter of the best answer:

Answers . 1.(b)ajarlid 2.(d)apulley 3.(c)apulley.

4. (d) wheel and axle 5. (d) a pulley system with 5 pulleys

Answer the following questions in short:

QL. Define a machine.

Ans. A machine is anything that makes our work easier.

Q2.What is meant by a simple machine?

Ans. A simple machine is a simple tool used to make our work easier.

Examples: Lever, wheel and axle, pulley ,inclined plane, wedge and screws are
simple machines.

Q3. Define complex machine.

Ans. A complex machine is a system in which simple machine all work together,
Complex machine is a combination of two or more simple in one machine .

Examples: Car,tractors, fans.television ,computer , etc.

Q4. Write two uses of wheel and axle.

Ans. We use wheel and axle in two ways:

1. To lift a heavy load ,We apply force on the wheel turns the axle.

2.To increase the speed , We apply force on the axle to turn the wheel .
Examples: A screwdriver is an example of wheel and axle.

The steering wheel of motor vehicles is also an examples of wheel
and axle.

Q5. Define Gear.

Ans. Gear is the modification of the wwheel. Gear wheel has round teeth around it



Q6.What do you mean by “gear train”.

Ans. When two or more gears work together . It is called a gear train.
Answer the following question in detail.

QL. Describe two kinds of pulleys and their .

Ans. Kinds of pulleys.

There are two kinds of pulleys :

1.Fixed pulley 2. Moveable pulley .

Fixed pulley

The axis of this pulley is fixed with some support . The load is tide on one end of
the rope which is passing over pulley. The force is applied on the other end of the
rope to lift the load . A fixed pulley is used to change the direction of applied
force.

Moveable pulley

This kind of pulley has a hook to tie the load. The moveable pulley moves
together with the load . In this kind, the rope is attached to some support while
pulley moves . A moveable pulley does not change the direction of a force. The
applied force and the load moves in the same direction.

Q2. Write briefly the working of a hand drill.
Ans. Working of hand drill.

A hand drill consists of two mutually perpendicular gears . When its larger gear
Is rotated in a vertical plane ,the smaller gear linked with it rotates very fast in the
horizontal plane . A hand —drill is used to makes holes in wood.

Unit#10 Properties of light.
Objectives.

Ex#1. Write proper term or word against each statement pg#110

Ans: 1. Diffuse reflection of light 2. Microscope 3.concave mirror



4. law of reflection

Ex#2. Circle the best answer:

Ans. 1(a) 2(d) 3.(d) 4.(d) 5.(c)6(c)
Answer the following questions in short.

Q1. Define the transmission , absorption and reflection of light .(draw fig10.1
pg#100)

Ans . Light behave differently when it falls on different objects . When light falls
on the surface of a non —luminous object ,it can behave in three ways:

1. Transmission of light.  When light falls on transparent objects, it is
transmitted to the other side . That is why ,we can see across transparent objects.

2. Absorption of light. When light falls on a rough opaque objects , most part
of this light is absorbed and changed into heat energy .A black surface absorbs
most of the light.

3. Reflection of light. When light falls on a smooth shiny surface , it bounces off
in one particular direction . This bouncing of light is called reflection

Of light .
Q2. What is a Pin- hole Camera?(fig 10.8)

Ans. Light travels in straight lines . A device which makes use of this fact is called
a pin-hole Camera .

Q3. What is periscope ?(draw diagram 10.9)

Ans. A Periscope helps us to see on the other side of the wall.
Q4.How many types of Mirrors are there?

Ans. Mirrors are of two types :

1. Plane mirror .

2.Curved mirror.

Q5. What is curved mirror ? also write its types.

Ans. A curved mirror is a part of a hollow sphere.



Types of curved mirror.
1.Concave mirror
2. Convex mirror

1.Concave mirror. A curved mirror whose inner curved surface is reflecting is
called a concave mirror . It is like the inside of the bowl of a spoon .

2.Convex mirror. A curved mirror whose outer surface is reflecting is called a
convex mirror .lt is like the outside of the bowl of a spoon.

Answer the following questions in detail
Q1.Write the uses of mirrors.
Ans: Uses of Mirrors:

A plane Mirror

1.1t is used as a looking glass.
2.1t is used in periscopes.

3. Itis used in telescopes.
4.1t is used in microscopes

A convex mirror

1.1t is used as ; security mirrors in shops.
2.1t is used as; car wing mirrors .
3. It is used as; blind corner mirrors on roads especially on mountains.

A concave mirror

1.1t 1s used as; a dentist’s mirror.
2. It is used as; a cosmetic mirror.
3. It is used as; a headlight mirror.

4. It is used as; a torch and search light mirror.



Q2. How does a multiple reflection occur in akaleidoscope? (draw the fig
10.12,10.3)

Ans: A Kaleidoscope is an optical instrument in which we can see changing
patterns of a simple design.

Multiple Reflection in Kaleidoscope

The plate of ground glass throws the reflections in different directions. It makes a
beautiful design . When the viewer turns the kaleidoscope, the coloured pieces

shift position and the reflected patterns changes. The constantly changing patterns
are formed by the multiple reflections of the loose coloured pieces through mirrors

Unit# 11 Investigating Sound.

Objectives

Ex.1 Write the proper term against each statement.(pg 119)

1. solid 2. Gas (air) 3. Auditory nerve 4. Vibration

Ex 2. Circle the best answer :

Ans (a) solids 2. (c) when we shout over others 3.(d) 6,000 meter per second.
4. (d) air  5.(c) a group of astronauts on the moon

Answer the following questions in short:

Q1 Define vibration

Ans. Sound is produced when matter moves back and forth very quickly. A back
and forth movement is called a vibration.

Q2. What is a cochlea?

Ans: The cochlea is found in the inner ear . The cochlea is a snail-shaped organ
which is filled with a liquid .

Q3. In which material sound waves moves most quickly?

Ans: Particles in solids are very close together so sound waves moves quickest in
solids.



Q4. Which nerve carries signals of sound to the brain?
Ans: Auditory nerve carries signals of sound to the brain.
Q5.How do Dolphins and whales send messages to each other?

Ans. Dolphins and whales use sounds to send messages to each other under water.
They also listen sounds to help them find their way.

Answer the following questions in detail:
Q1.Prove that sound is a form of energy.
Ans: Sound as a Form of energy

We know that energy can do work and work is done when something is moved .
Sound is a kind of energy . When we strike a drum , sound is produced because the
drum skin vibrates .Large amounts of energy can produce louder sounds .So it is
proved that sound is form of energy.

Q2. How does human Ear Receive Sound?

Ans: The outer part of the ear directs sounds into the ear canal inside the ear canal,
the sound waves hit the eardrum. The sound waves make the eardrum vibrate. The
eardrum causes three tiny bones in the middle ear to vibrate. Then the vibrations
move into cochlea in the inner ear, tiny hairs in the cochlea move. They convert the
vibrations into signals. These signal of sound travel along the auditory nerve to the
brain.

Unit#12  Space and The Satellites
Objectives

Ext#tl Pg#130

Write proper term against each statement:

Ans: 1.Sputnik-1 2. GPS.3. Ceres. 4.Comets .
Ex #2

Circle the best answer.



Ans: 1. (c) Mars and Jupiter 2.(d) 76 years 3. yuri Gagarin. 4. (c) GPS. 5.
(b) away from the son . 6 .(c) 1957.

Answer the following questions in short:
QL. Define heavenly bodies.

Ans: All Stars, The Sun, The Moon, the Earth, all Planets and satellites are called
heavenly bodies .

Q2. Who were the first men to step on the moon?

Ans:In 1969 ,two Americans Neil Armstrong and Edwin Aldrin were the first
Q3.When were Pakistan send its first satellite in the space ?

Ans: Pakistan sent her first satellite Badar-I in 1990s.

Q4. How many parts does a rocket has?(draw stages of rocket pg#127)

Ans : A rocket has many parts each part of the rocket falls off in three stages.
Q5.Who is a Astronomer?

Ans: A scientist who studies the Stars , Planets and other objects in space is
known as Astronomer.

Q6.Name natural satellite of the Earth.

Ans: The Moon is the natural satellite of the Earth.
Answer the following in detail:

Q1. Write note on Comets.

Ans: Comets

A comet is a large ball of ice and dust that orbits the sun , Comets move around
the Sun in an elliptical path . Comets probably come from the far, outer edges of
the solar system .

A Comet has three parts :
1.A head .

2.Coma.



3. A tail.
Ahead The head is made of ice, particles of rocks and gases.

Coma When a comets come near the sun, A large fuzzy, circular cloud around
the head of a comet is called the coma .

Atail  During orbiting near the Sun, a long tail of gases and dust particles are
formed behind the comet . A Comet known as Cmet Halley has appeared in the
sky many time. It appears after every 76 years.

Q2.What do you know about asteroids and meteors?
Ans: Asteroids.

An asteroid is a piece of rock that orbits the sun between Mars and Jupiter. The
astronomers have discovered thousands of asteroids . Asteroids are made of
rock , metals or minerals. Some asteroids have diameter up to 1,000 kilometers but
some are very small in diameter. Two asteroids are seen from the Earth without the
help of a telescope . These are :Ceres and Vesta.

Ceres: is the largest asteroids ever discovered . Asteroids may be the pieces of
our solar system that never formed a planet .

Meteors

A meteor is a stray particles which comes from the asteroid belt and enters
atmosphere of the Earth . Due to the friction of air , the meteor gets fire and a trail
of light is seen .Some people call them falling stars, shooting stars, or fire ball.We
can view 20 to 30 meteors on a clear night .



Class 6 2" Term Syllabus

EX7a

Ql.if the bag containing 12kg of basmati rice sells at RS492, find the cost of 2ks of the rice

rice cost
12Kg Rs492
2Kg X
2 = = Itipl
5 = . cross multiply
X %12 =2x492

2x492
X=

12

x = RS82

Q2. if a dozen eggs cost Rs 36, find the cost of 7 eggs

egg cost
12 Rs 36
7 X
=z = £ Itipl
- = — cross multiply
X x12=7%x36

7 x36
X=

12

X=Rs 21

Q4. the fastest man in the world can run 100 meters in 9 seconds . how far can he run in one
minute and 2 second?

note: 1min 2sec = 60 + 2 = 62 second



time runs

9 sec 100
62 X
2 = 100 r multipl
P = . cross multiply
X x9=62x100

62 X100
X=

9

X = 688.88 meter

Q5. if afsheen can read 29 pages of the books in half an hour, how long will it take to finish a
book which is 1287 pages

pages times
39 30 sec
1287 X

392

— = 30 cross multipl
1287 - x ply

X x392=1287x 30

1287 x30 . 990
X= =990 min = —

392 60
x = 16.5 hours

Q7. a liters jug of lemonade contains 1.6 liters of lemon juice and the rest in water ,how much
lemon juice does a 1.5 liters bottle of lemonade contain

lemonade lemon juice
6L 1.6 liters

1.5L X

L = 18 cross multiply
15 x

X x6=1.5x1.6



_15x16

x=04L1

Q8.a famous batsman scored a century in 38 overs. if he could keep up the same run rate.
how many runs would ho be scored in 47.5 overs.

overs runs
38 100
475 X

38

— = 100 cross multipl
475 - x ply

X x 38 =475x%100

475 x100
X=

38
x =125 runs

Q9. if two third of the lawn needs 6Kg of fertilizers , how much fertilizer will the whole lawn
need

lawn fertilizers
2 6Kg
3 X

= 6 cross multipl
3 = . ply

X x2=3x6




Q10. a car can travel 250 Km in 3 hours

I. how long will it take to travel 400 Km

travel time
240 Km 3 time
400 Km X

240

— = 3 cross multipl
400 - x ply

X x240=400x 3

_ 400 x3
T 240

X =5 hours

ii. what distance will it travel in 7 hours

time travel
3 sec 240Km
7 sec X

3 240 .
3 = — cross multiply

X x3=7x240

7 X240
T3

X =560 Km

Ex 7b

Q1 Express the following in fraction:

: o - 15 _ 3

(i) 15% =Too = 70 cut down by table of 5
- o =27 _ 27

(i) 27% T100 ~ 100

o _ 35 _ 35 7

(iii)  3.5% T 100 ~  10x100 200

remove decimal and write 10, cut down by table of 5



Q2.Convert the following into percentage:

(i) % = 51 X 100 = %0 = 20% cutdown by table of 5

.. 3 _ 3 _ 300 _

(ii) 0 = 50 X 100 = 0 = 6% cut down by table of 5

Gy 22 _ 200 _ 40 _

(iii) 25 = 35 X 100 = s = 5 = 8% cutdown by table of 5
(iv) 0.35 = % X 100 = 35% 100cut down by 100

(v) 4.2 = % X 100 = %go = 420% O cutdownbyO

Q3.Find the rate percent in each case.

(i) 7 out of 28

_ 7 x100:ix100=$=25%

28
(i) 20gms out of 50 gms
20 2 200
= — = - - — = 0
=0 X 100 : X 100 c 40%
(iii) Rs 60 out of Rs 150
60 6 2 200

— 50 - 5 - £ =27 — 400
= 105 X 100 = IR 100 = = X 100—5 = 40%

(iv) 44 Kg out of 66Kg

=M v 100= 2 x100= 2 x 100 = % —66.67%
66 6 3 3

Q4. What percent of 240 is 30?

I
X
[y
)
o

Il
X
[N
()
o

I

I

100
x 100 =3 12.5%

Q 6. Adila saves 16% of her months salary. If she gets 21000 per month,how much
does she save every month

Total Salary =Rs 2100

16

Rate of saving =16% = —
100



16

Saving = Too X 21000 =16x210 = Rs 3360

Q7. The total number of the students is 1650. 70% of the pupils are the boys.how
many girls are there in the school

Total students in school = 1650

Rate of boys in school =70% =%
No. of boys in school = % X 1650 =7x165 = Rs 1155
No. of girls = 1650 - 1155 =495

Q8.if a partner in business is having 60% share gets Rs 9000 as profit every year. Find
the total profit made by the business in a year

Rate of profit of partner = 60% = %

Profit of partner = Rs 9000

Total profit = 19 « 9000= 20299 _ 309% _ ps15000
60 60 6

Q9. Shahid secured 338 marks out of 400 in his examination. What per cent of the
total he get

Total scored = 338

Total marks =400

% age of marks = = % X 100=%= 84.5%



Ex. 8c
Ql. 5x-{3x +( 4x-2x)}
=5x-{3x + 4x — 2x}
=5x — {7x -2x}
= 95X — 5X
=0
Q2. 8a - {4a-(3a+5a)}
=8a -{4a-3a-5a}
= 8a - 4a+3a+ba
= 8a + 3a + 5a -4a
= 16a—4a
=12a
Q3. at+t3b—(b -3a)-{a-2b-(a+2b)}
= a+t3b-b +3a-{a-2b-a-2b}
= a+3b-b +3a-a+2b+a+2b
= a-a+a+3a+3b+2b+2b-Db
= 4a+7b—Db
= 4a + 6b

Q4. 3{a—2(b— a-b}
=3{a—2(b— a+ b}
=3{a—2b+ 2a - 2b}

=3a—6b+ 6a—6b



=3a+6a—6b—6b
=9a —12b

Q5. 5a-[3b-{4a-(5b-6a— 7b)}]
=5a— [ 3b - { 4a— (5b —6a—7b)}]
=5a—[3b - { 4a—5b +6a + 70)}]
=5a—[3b - 4a+5b—-6a-7b]
=ba— 3b+ 4a-5b+6a+7b
= ba +4a +6a -3b -5b + 7b
= 15a-15b
=15(a - b)

Q6. a-[b-c+a-{b-(c-a a — b)}]
=a-[b-c+a- {b-(c-a a-b)}]
=a-[b-c+a- {b- c+a+ a+Db}]
—a-[b-c+a- b+ c+ata+b]
—a-b+c-a+ b-c+a+ a+b
—a—a+a+a-b+b+b-c+c

=2a+b

Q7. 7a-4b-[5a-3{b-2(a-b)}]
= 7a-4db-[5a-3{b-2a+ 2b}]
== 7a-4b - [5a-3b + 6a - 6b]

= 7a-4b-5a+ 3b-6a+ 6b



= 7a-5a- 6a—4b +3b + 6b
=7a -1la -4b+9b
= -4a+5b
Qo. 2(a® — b*)-3[a® —{b* - a® + (a* — b?> - a®}]

2(a? — b?)-3[a® — {b? — a® + a® — b? — a?}]
= 2(a* — b*)-3[a® — b?>+ a%’— a®+ b*+ a?]
= 2(a® — b?*)-3[2a?]
=  (2a® - 2b%*-6a*
= 2a* -6a*— 2b®
= — 4a?® — 2b?
=  —-2(2a%+ b?

Q10. ab-[bc—{ca+ab+ (bc- ca — ab)}]
=ab-[bc—{ca+ab+ (bc- ca +ab)}]
=ab—[bc—{ca+ab+ bc-ca +ab}]
=ab—-[bc— ca—ab- bc+ ca -ab]
=ab- bc+ ca+ab+ bc- ca +ab
=ab+ab+ab+bc—- bc+ ca-ca

= 3ab

Ex. 8d

Ql. If x=-3,y=5,and z = -2, evaluate the following:
(i) x+y-z
= -3+5-(-2)



(iii)

(iv)

-3+5+2
-3 +7
4

2X - 3y +z

2(-3) - 3(5) +(-2)
=-6-15- 2
= 23

x2-yz
72

(=3)*-(5)(-2)
(—2)?
9 +10
4

_1
T 10
x% + y2+ 72
xXyz
_(=3)2+ (5)%+ (—2)?
T (=3)(5)(-2)

_ 9+ 25+4
T30

38
30




w2
2(-3)> + 5—(-2)
(=3)-3(5) + (=2)

-6 +5+2

-3—-15-2

-6+ 7
- 20

1

~20
..., x(2y+ 32)
(viii) o
_ —3(2)(5) + 3(=2))
3(=2)(-3)

-3(10-6)
18

—3(4)
18
-12
18
-2

= 3 cut down by the table of 6

(viii) x3 + 3xyz—y3 + 23

=(-3)® + 3(-3)(5)(-2) -5° + -2°

=(—3xXx-3 X =-3)4+90-(5 X5 %Xx5) + (-2x-2 x-=2)



= -27 +90 -125 - 8
=-70
Q2 lIf a=2,b=9,and ¢ = 25, evaluate the following:
= b%- 4ac
=(9)% - 4x2 x25
=81 -200
= -119
Q3. Evaluate 1-[1-{1-(1-1 + x)}] whenx=1
=1-[1-{1- (1-1 - 1))}]
=1-[1-1- 1+1+ 1)]
=1-[1-1+ 1-1— 1)]
=1-1+1-1+1 +1
=+1+1
=2

Unit 9: Ex 9

Q2. Solve the following equations:

(i) X+ 2=7
X =7-2
X=35

(ii) 3x - 1=23



3x = 24
x =2
3
X =8
(iii) 5x + 7=2(x + 2)

5 + 7=2x + 4

5x - 2x= 4 -7
3x =-3
X ==
3
X =-1
(v) 5x -1 =44
5x =44 +1
5x =45
45
X =3
X =9

vi)
3(t-1)-2(2t + 3)=5( t+3)
3t- 3- 4t-6 =5t+15
3t-4t-3-6=5t+15
-t-9 =5t+15
-t-5t=15+9
24

t=—— =-4 t=-4
6



(vi) 14(2t - 3) - 2(t + 2) = 10(3t - 4)
28t - 42 - 2t-4 =30t-40
28t - 30t- 2t =42 +4-40

28t - 32t = -40+46

-4t =6
6
t=_Z cut down by 2
=2
2
(vii) STX -5=2x
(viii) 4 x=2 -5 x4=2xx4
3x - 20 = 8x
3x - 8 = 20
-5x = 20
t=—2 =4

Q1; write an equation for each of the following parts

(i) A number increased by 5 is 12 X+ 5 =12
(ii) Twice a number decreased by 3 is 12 2x- 3 =15
(iii) 6 less than four times a number is 30 4x -6 =30
(iv) One fifth of the number added is 6 to 10 % x+6 =10

(v) Two third of a number subtracted from 8 is 4 8 —-x=4



Page 144

Q1. Right the correct answer in column C.

from 6

Column A Column B Column C
A number divided by
6 and decrease by 5 g = %x %_ 5
Twice a number
increase by one 6- Sx 2x +1
4
8 divided by two-
third of a number 2x +1 g+ 2y
3
Seven times a x 5
number increase by 6 X+ 2
two
Three-fourth of
number subtracted X +2 6- Sx
4

Q2. Names the types of each polynomial

1. 2a%+Db
2. X+y+¢c

3. 3x?

S5 Xy+yz

binomial

trinomial

monomial

monomial

binomial




6 2x%+3xy +Yy? trinomial
7.8abc + 1 binomial

Types of Angles

Angles are classified according to their size .

Right Angle

A right angle is of 90°. The arms of the right angle are perpendicular to each other.

Acute Angle

An acute angle is less than 90°.

Obtuse Angle

An obtuse angle is more than 90°, but less than 180°.

Straight Angle

A straight angle is of 180°. A straight angle forms a straight line . The arms of the straight
angle extend in opposite directions .

Reflex Angle
A reflex angle is more than 180° but less than 360°.

Complete Angle

A complete angle measures 360° .

Types of Triangles

Triangles are often classified according to the length of their sides or the size of their angles .

Classification by sides

Scalene triangles Isosceles triangles Equilateral triangle
A scalene triangle has | An isosceles triangle has two An equilateral triangles has
all three sides of sides of equal length . three equal sides .

unequal length ,and

three angles of In A ABC.




different sizes .

EX7a

Ql.if the bag containing 12kg of basmati rice sells at RS492, find the cost of 2ks of the rice

rice cost
12Kg Rs492
2Kg X
12 = 292 cross multiply
2 x
X x12=2x492

_ 2x492

12

X = RS82

Q2. if a dozen eggs cost Rs 36, find the cost of 7 eggs

egg cost
12 Rs 36
7 X
z = = Itipl
> = — cross multiply
X x12=7x36
7 x36
X=
12

X=Rs 21



Q4. the fastest man in the world can run 100 meters in 9 seconds . how far can he run in one
minute and 2 second?

note: 1min 2sec = 60 + 2 = 62 second

time runs
9 sec 100
62 X
2 = 100 cross multipl
62 - x uftiply
X x9=62x100
62 x100
X=

9

X = 688.88 meter

Q5. if afsheen can read 29 pages of the books in half an hour , how long will it take to finish a
book which is 1287 pages

pages times
39 30 sec
1287 X

392

= 30 cross multipl
1287 - x ply

X x392=1287x 30

1287 x30 . 990
X= =990 min =—

392 60
X = 16.5 hours

Q7. a liters jug of lemonade contains 1.6 liters of lemon juice and the rest in water ,how much
lemon juice does a 1.5 liters bottle of lemonade contain

lemonade lemon juice
6L 1.6 liters
1.5L X

6 1.6 .
— = — cross multiply
X



X x6=1.5x1.6

_15x16
T 6

x=0.41L

Q8.a famous batsman scored a century in 38 overs. if he could keep up the same run rate.
how many runs would ho be scored in 47.5 overs.

overs runs
38 100
475 X

38

— = 100 cross multipl
475 - x ply

X x 38 =475x%100

475 x100
X=

38
x =125 runs

Q9. if two third of the lawn needs 6Kg of fertilizers , how much fertilizer will the whole lawn
need

lawn fertilizers
2 6Kg

3 X

= 6 cross multipl
3 = . ply

X x2=3x6

Q10. a car can travel 250 Km in 3 hours



I. how long will it take to travel 400 Km

travel time
240 Km 3 time
400 Km X

240

— = 3 cross multipl
400 - x ply

X x240=400x% 3

_ 400 x3
T 240

x =5 hours

ii. what distance will it travel in 7 hours

time travel
3 sec 240Km
7 sec X

3 240 .
3 = -, cross multiply

X x3=7x240

7 X240
T3

x =560 Km
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Unit13 Ex. 13b

Q6. The internal angles of a triangle are in the ratio 2:3:5. Find the size of its
greatest angle. What type of triangle is it?

We know that
Sum of angles of a triangle = 180°
Given ratio = 2:3:5

Sumofratio=2+3+5=10
Size of its greatest angle = 15—0 x 180°
=90°

It is right angle triangle

Q7 . The internal angles of a triangle are in the ratio 2:3:5. Find the size of
angles. Find the size of its greatest exterior angle.

We know that
Sum of angles of a triangle = 180°
Given ratio = 3:5:7
Sumofratio=3+5+7=15
1% angle = 115 x 180° = 36°
2" angle = % x 180° = 60°
3 angle = % x 180° = 84°

Size of its greatest angle =180° - 36° =144°



Q8.0ne angle of an isosceles triangle is 100°.Find the size of each of others two
angles.

We know that
Sum of angles of a triangle = 180°
Measurement of one angle of isosceles triangle = 100°

Sum of other two angles = 180° - 100° = 80°

80° _ ao0
2

Measurement of each angle

Q9. One of the base angles of an isosceles triangle is 54° .Find the its vertical
angle.

We know that

Sum of angles of a triangle = 180°
One of base angle = 54°

Sum of base angles = 54° + 54°= 108°

Measurement of vertical angle = 180° - 108° =72°

Q10.Find the value of x in the figure.

We know that

Sum of angles of a triangle = 180°

From figure (present on ur book )
<A +<B+<C =180°

<A +40°+72°=180°



<A +112°=180°
<A =180°-112°

<A =68°

Qill. The angle made by the equal angles of an isosceles triangle 84°.
Find the other angles.

We know that
Sum of angles of a triangle = 180°
Measurement of vertical angle =84°

Sum of base angle = 180° - 84° = 96°

96°
Measurement of others two angles = > = 48°




EX14b

Q1 find the areas of the each of the following rectangular fields whose
dimensions are given

i. length = 15m
breadth = 9m
area=Ixb
=15m x 9m

=135m?

ii. length=32m
Breadth =24
area=Ixb
=32 x 24m
= 768m?

iii length =5m
Breadth =3.5m
area=Ixb

=5mx 3.5m

=17.5m?

iv length=4.5cm

Breadth = 2m5cm = 2.5m



area=Ixb
=4.5mx 2.5m

=11.25m?

Q2 find the area of each of the following squares whose dimensions are given

i. Length of side of square=21cm
Area=1xl
=21x21
=441 cm?

iii. Length of side of square=4.5m
Area=1xl
=4.5x4.5
=20.25 cm?

iii. Length of side of square=1.2m
Area=1xl
=1.2x1.2
=1.44 cm?

iv . Length of side of square=2.50 m

Area=1x|
=2.50x2.50
=6.25 cm?



Q3. Find the breadth of a rectangular field whose areas is 126 m?
Length of triangle = 18 cm
Area of triangle = 216 m?

Area=Ixb

area

b_z

_ 216
" 18

=12cm

Q4.determine the length of a plot of land 16m wide and whose area is 336m?
Breadth of plot =16 m

Area of triangle = 336 m?

Length of plot =?

Area=1Ixb

area

I
b

_ 336
" 16

=21m

Q3.calculate the perimeter of a rectangle whose length and breadth are 15m
and 12 m respectively. Find also the cost of fencing the field at te rate of Rs 25
per meter

Length f rectangle = 15m

Breadth of rectangle = 12m



perimeter of rectangle = 2(length + breadth)
=2 (15+12)
=2(27)
=54m

Cost of fencing per meter = Rs 25

Cost of fencing 54m = 25 x 54 = Rs 1350

Q6. The length and the breadth of a playground are 36m and 25 respectively.
Find the cost of leveling the ground at the rate of Rs 3.00 per m?

Length of the field = 36m

Breadth of the field = 25m

Area of the field =36 x 25 = 900m?
Cost of leveling per square m = Rs 3.00
Cost of leveling 900 sq. m =3 x 900

=Rs 2700

Q7. Find the cost of the flooring a square room at Rs200 per square meter if the
length of each side of the room is 6 meters

Length of each side of the room = 6m
Area of square room = 6 x 6 = 36m?
Cost of flooring per sq m = Rs 200

Cost of flooring 36sq. m = 200 x 36 = Rs 7200



EX14 c

Q1. Find the total area of the four walls in each of the rectangular rooms having
the following dimensions

1. Length of theroom =10 m
Breadth pf the room =5m
Height of the room =4m
=2(l+b)h
=2(10 +5) x4
=2x15x4

Area of wall=120m?

2. Length of the room =8.5m
Breadth pf the room =4.5m
Height of the room =3.5m

Areaofwall=2(I+b)h
=2(8.5+4.5)x3.5
=2x13.0x3.5
=91 m?

3. Length of theroom =6m
Breadth pf the room =5m
Height of the room =3m
Areaofwall=2(I+b)h
=2(6+5)x3
=2x11x3.
=66 m?



Q2. Aroom is 8m long, 6m wide and 3.5m high. Find the cost of white washing
its four walls at the rate of Rs 50 per square metre.

Length of the room =8 m
Breadth pf the room = 6m

Height of the room =3.5m
Areaofwall=2(I+b)h
=2(8+6)x3.5
=2x14x3.5
=98 m?

Cost of white wash =98 x Rs50 = Rs4900

Q3. A gymnasium 50m long and 30 broad. A running track 2.5m wide run all
round it on the inside. Find the area of track.

Length of gymnasium = 50m
Width of gymnasium = 30m
Width of track =2.5 + 2.5 =5m
(track is inside then double it minus from length and breadth)
Area of gymnasium with track =1 xb
=50m x30m
= 1500m?
Length of gymnasium without track = 50m - 5m =45m
Width of gymnasium without track =30m -5m =25m
Area of gymnasium without track =1 xb

=45m x25m



=1125m>
Area of track = 1500m? - 1125m?

= 375 m?

Q5. A garden 150m long 80m wide has a road 4m wide all round of the outside.
Find the cost of paving at the rate of Rs 120 per square metre.

Length of garden = 150m
Width of garden = 80m
Width of track =4 + 4 = 8m
(Track is outside then double it plus to length and breadth)
Area of garden with track=1xb
=150m x80m
= 12000m?
Length of garden with track = 150m + 8m =158m
Width of garden with track =80m + 8m =88m
Area of gymnasium with track =1 xb
=158m x 88m
= 13904m?
Area of track = 13904m?- 12000m?
= 1904 m?

Cost of paving = 120 x 1904 = Rs 228480



Q5. A house is 20m long and 15m wide is surrounded by verandah of uniform
width of 3m. Find the cost of flooring the verandah at the rate of Rs 200 per
square metre.

Length of house = 20m
Width of house = 15m
Width of verandah =3 + 3 =6m
(Track is outside then double it, plus in length and breadth)
Area of house with track=1x b
=20m x15m
= 300m?
Length of house with track =20m + 6m =26m
Width of house with track =15m +6m =21m
Area of house without track =1 xb
=26m x21m
= 546m?
Area of verandah = 546m? - 300m?
= 246 m?

Cost of flooring = 200 x 246 = Rs 49200



Ex. 15 Volume

Q1 Find the volume of the each of the following cuboids:

| | =12cm ,b=10cm , h=8cm

Volume of cuboid =1 xbx h

=12x10x 8

= 960cm?

| =4cm ,b=2.5cm , h=1.5cm

Volume of cuboid =1 xbx h

=4x2.5x1.5

=15cm?

iii
| =2m50cm = 2.5m,b=1m , h=0.75cm
Volume of cuboid =1 xb x h
=2.5x1x0.75
=1.875m* = 1.875 x 1000000 = 1875000 m*

Q2. A tin can has dimensions 2m x 1.5m x 1m .How many litre of kerosene oil

can it hold.
Dimension of tin=2m x 1.5m x 1m

=3m3

=3 x 1000 = 3000L



Q3.a tank is 5 m long, 3m wide and 1.5 m high. How many cubic meters of the
water can t hold

| =5m ,b=3m ,h=15m
Volume of tank =1 xb x h
=5x 3x1.5

=22.5m3

Q5find the volume of each of the cubes whose edges are given below
i. 1.5m
Length of side of cube =1.5m
Volume of cube = side x side x side
=15 x1.5 x1.5
=3.375 m?
ii. 60cm
Length of side of cube = 60cm
Volume of cube = side x side x side
=60 x 60 x 60

=216000c m3
ii. 22m=2
3 3

m

Wl

Length of side of cube =



Volume of cube = side x side x side

8
==Xz Xz
3 3
_512 3 _ 1026 s
27 27

Q6. A cubical wooden block of edge 2.1m is cut into small cubes each having an
edge of 35cm. determine the number of small cubes that can be obtained .

Length of edge of block = 2.1m

Volume of cube = 2.1m x2.1m x 2.1m = 9.261 m?
Length of edge of cubical block = 35cm = 0.35m
Volume of small block =0.35m x 0.35m x 0.35m

=0.042875

9.261

=216
0.042875

No. of small cube that can obtained =

Q7.a storage room is 6m long , 5m wide and 3.5 m high . how many tanks of
capacity 120 liters each, can it hold

Length of the room =6 m
Breadth pf the room =5m
Height of the room =3.5m
Volume of room=1 xb x h
=6x 5x1.5

=105 x 1000 = 105000L



Volume of the tank = 120L

105000
120

No. of the cubical tanks it can hold =

=875






St. Mary’s Convent Girls High School

Class: 6 Pink, Green, Blue Subject: English B
Unit # 24

Transitive Verbs and Intransitive Verbs
Transitive Verb: If there is an object right after the verb, this verb is called a transitive verb.
Intransitive Verb: If there is no object right after the verb, then it is called an intransitive verb.
On Page No. 90, we are given the two kinds and their uses, read them well and solve the exercise given below.

Unit # 25

Forms of verb

In this unit we are taught about the form of the verbs, learn them well and solve the exercises given on Page
92.

Unit 26 to 37 will be done in the class when the school reopens
Unit # 38
Modal Verbs: May / Might

We use “May” or “Might” to talk about the possibilities in future. In this unit we are explained how and when
to use these model verbs. Go through page 129 and 130 and solve the exercise given below.

Unit # 39
Model Verbs: Should, Must

Should: We can use “Should” to talk about obligation and duty, to ask for and give advice, and in general, to
ask what is right or good.

Must: We use “Must” in sentences when we want to say something is very compulsory. In this unit we are
told about the different kinds of situations in which we can use these verbs, read them well for the clear
understanding, learn them and solve the exercises on page 132.

Unit # 40
Model Verb: Would

To say something politely we use this model verb “Would” in the beginning of the sentence and put the
question mark at the end of the sentence.

Example: Would you help me please?
Go through the page carefully and solve the exercise given below

Unit # 41
Model Verb: Ought to

We use this model verb “ought to” when we talk about some advise and religious or moral obligations. In unit
41 we are taught how use this verb in our daily life through some affirmative, negative and interrogative
sentences. Go through them and solve the exercise given on page 135.



Unit # 42
Apostrophe (°)

An apostrophe is used with “S” to show that a thing or a person belongs to somebody. On page 136 that
different sentences given to clarify the use of it. Go through the page thoroughly and solve the exercise
given on page 137.

Unit # 43
Adverb

A word that modifies the meaning of a verb, an adjective or another adverb is called an adverb.

In this unit we are taught about the formation of adverbs, the kinds of adverbs with examples. Read the whole
unit carefully, understand it and solve the exercises given on page 143 to 145.

Unit # 44
Much, Many

The word “much” is used for to tell the quantity in negative and interrogative sentence. Example: how much
oil do you have? Whereas the word “many” is used to tell the number of things in negative and interrogative
sentence. Example: They have too many books. We can say that the word “much” is used for uncountable

99 ¢¢ b

nouns and the word “many” is used for countable nouns in sentences. In positive sentences we use “so”, “very
and “too” with many and much.

Solve the exercises given on page 146.
Unit # 45

Use of: a few, a little and a lot

In positive sentences we use “a little” and “a few” to talk about the quantity of something. Whereas in negative
sentences we use “little” and “few” to tell the quantity of something.

“A lot of” means in a great quantity or in a great number. We always use it with plurals or uncountable nouns.

Go through the page and try solve the exercise given below.
Unit # 46
Too....To

Read page No. 148 carefully and solve the exercises given below.
Unit # 47
Too

“Too” means more than sufficient and more than necessary. We can use it instead of “also”. Example: The
shirt is red too. The shirt is also red.

Translate the sentences given on page 149 with the help of hints given below.



Unit # 48

Prepositions of Place

On page 150 and 151, we are told about the prepositions of place. It is a word that is used before a noun or a
pro noun. It shows a place, time or direction. We use it before the noun and pronoun in a sentence.

Read these two pages and make at least 5 sentences of each in your note book for your clear understanding.
Also solve the given exercises on page 152.

Unit # 49

Prepositions of Time

In this unit we are taught about the prepositions of time and their uses. Learn them well and solve the exercises
given on page 153 and 154.

Unit # 50

Prepositions of Direction

Prepositions of direction tell us where to go or where to put something. In this unit we are taught about how
to use the prepositions of direction in our daily lives. Go through page 155 and solve the exercise given below.

Unit # 51

Go through page 156 and 157 and read the given sentences carefully in order to clarify your understanding
about how to use the prepositions in sentences.

Unit # 52

Conjunctions
Conjunctions are words that join two words or two sentences. There are three main kinds of conjunctions:

1. Coordinating conjunctions
2. Subordinating conjunctions
3. Correlative conjunctions

In unit 52 we are given the kinds of conjunctions and the uses of them with lots of examples. Read the whole
unit carefully 7and solve the exercises given on page 161 and 162.

Unit #53

Interjections

“Interjections” are the words that show a strong emotion, surprise, shock or excitement. They usually come at
the beginning of a sentence. Read page 163 and solve the exercise given below.

Unit 54 to 57 will be done in the class when the school reopens
Unit # 58

Expressions of Everyday Use

Read the sentences and their translation given page 174 to 177 carefully and make at least 20 sentences of
your own.,



Unit # 59
Proverbs
Learn these proverbs both English and Urdu.
Unit # 60
Essay Writing
For 1% Term

1. Allam Igbal - our National Poet
2. My best friend

3. My best teacher

4. Land Pollution

For 2" Term

1. My favorite game

2. Smoking a bad habit

3. Uses and benefits of latest inventions.
4. Sportsmanship

You can take the help from unit 60 and the internet as well to write these essays in your note books.

Unit # 61
Letters
For 1% Term: 1to 7
Learn these letters by heart.
For 2" Term: 8 to 14
Learn these letters by heart.
Unit # 62
Applications

For 1% Term: Application No. 3 and 4 from page 198 and 199.

For 2" Term: Application No. 5 and 6 from page 199.

Learn these application by heart.

You will be taught the proper method of writing letter and application when the school reopens.

Unit # 63

Stories
For 15 Term:

1. A good beginning makes a good end.
2. Nip the evil in the bud

3. The camel and the jackal

4. Where there is a will, there is a way.



For 2" Term:

The dove and the bee

The selfish friend

Three friends and a bag of gold
The lion and the mouse

All that glitter is not gold.

arLONE

You can find all these stories in unit 63 given on page 201 to 208, learn them by heart



St. Mary’s Convent Girls High School
Class: 6 Pink, Green, Blue Subject: English A
Unit # 16
The story of writing

Q.1 Word meaning

Striking Beating
Easy Not Difficult
Instance For example
Symbol Signs
Ancient Very Old
Distance Fare Away
Letters Alphabets

Q.2 Question Answers.
1. What was one way of sending messages?
Ans:  One way of sending messages was beating drums which could be heard at a distance.
2. Where is this still done?
Ans:  This is still done in Africa.
3. How was warning of danger given in many countries?
Ans: In many countries fires were lit at night on hills to give the warning of danger.
4. How far could beacons could be seen?
Ans:  Beacons could be seen at great distance.
5. How were the smoke signals made?
Ans:  They were made by moving the blankets over the fire.
6. Give another way in which North American Indians sent messages?
Ans:  The North American Indians also sent messages to each other by drawing pictures.
7. Give two advantages of picture writing.
Ans: 1. Men could send message to each other.
2. They could also keep the record of the things that had happened.
8. In what way did picture writing changed?
Ans:  Gradually picture writing changed, the picture became easier to draw by harder to understand.



St. Mary’s Convent Girls High School
Class: 6™ Pink, Green, Blue

Unit # 17
Proverbs

Q.1 MCQs

1. Proverbs are wise saying

va. Short b. Long c. Clear

2. Too many spoils the broth.

a. Bakers v'b. Cooks c. Shopkeepers

3. Every has a lining.

a. Sun, light  b. Cloud, bleak v'c. Cloud, silver

4. People who live in glass houses should not throw

v'a. Stone b. Wood c. Glass
5. He who rides on a can never get off.
a. Lion b. Donkey v'c. Tiger

6. A leopard does not change his
a. Marks b. Scars v'c. Spots

Q.2  Question.
1. Write any five proverbs you can find out.

Subject: English A



St. Mary’s Convent Girls High School
Class: 6 Pink, Green, Blue Subject: English A
Unit # 19
Ants and their ways

Q.1 Words meaning

Labour Worker
Searching Finding
Repairing Mendning
Earth Soil
Defend Protect
Look out for Watch out
Odour Smell

A lot Plenty

Q.2 Question answers

1. Are ants lazy?

Ans: No they are not, they do their work very well.

2. Which ants are generally the nurses?

Ans:  The nurses are generally very young ants who have just come out of their cocoons.

3. When do the nurses come out of their nests?

Ans:  They usually come out of their nests when they are old and their skins are harder, and they are ready
to leave.

4. What do most insects do when they find food?

Ans:  The most insects eat and drink their food when they find it.

5. What do ants do when they find food?

Ans:  When the ants find food they bring it to the nest for the queen, other workers, for grubs and
themselves also.

6. When we see ants running about everywhere , what are they doing?

Ans:  When we see the ants everywhere, actually they are looking for something to eat.

7. What do the worker ants do?

Ans:  Many of the ants work at making new passages or at mending holes that have been made in the nest.
8. What do the soldier ants do?

Ans:  The soldier ants protects the nest from the enemies, they also watch for strangers.



Class: 6t Pink, Green, Blue

Q.1

Words meaning
Jealous
Impossible
Turn pale
Pretending
Astonished
Cunning
Means to

Sore

Teach manners
Hollow
Reached

At last

Seized his opportunity

St. Mary’s Convent Girls High School
Unit # 20

The Jackal and the Partridge

want something of someone else’s
that cannot happen

loose colour in one’s cheeks
Acting

surprise greatly

clever at deceiving

intends to

painful when touched

how to behave with others
empty space

arrived at

in the end

took his chance

Subject: English A



St. Mary’s Convent Girls High School
Class: 6 Pink, Green, Blue Subject: English A
Unit # 21
To take care of animals

Q.1 Words meaning

SPCA society for the prevention of cruelty to animals
Seem to become
Injured Hurt
Suffering troubles
Pets domestic animals
Painlessly without any pain
Kennel living place of dog
Suitable proper
Q.2 MCQs.

1. Animals living place should be

v'a. Cleaned b. Washed c. Tided

2. Animals should be given food.

v'a. Balanced b. Fatty c. Citric

3. We should notkeep _ animals as pets.

a. Zoo b. Stray v'c. Wild

4. Cats and dogs need meals daily

a. One v'b. Two c. Three

5. Wild animals if kept as pets, will soon.
a. Sleep b. Get up v'c. Die

Q.3 Question answers.

1. What do most people think of animals?

Ans:  Most people think that animals do not need to be cared.
2. Do animals need care?

Ans: Yes animals need a lot of care.



3. What does SPCA means?

Ans:  SPCA means society for the prevention of cruelty to animals.



St. Mary’s Convent Girls High School

Class: 6t Pink, Green, Blue
Unit # 22

The Bottle Imp

Q.1 Words meaning

Imp Devil
Horror Dreadful
Hell Burning pit
Searched for Looked for
Trouble Difficulty
Fortune Good luck

Q.2  True False

1. The bottle Imp is a story about a brave man called Keawe.

2. There was a fairy in the bottle.

3. There were two conditions set by the Imp.

4. The man gave a cup of coffee to Keawe.

5. All the wishes of Keawe were fulfilled by the bottle Imp.
Q.3 Question answers.

1. Who was Keawe?

Ans:  Keawe was a young man who lived in Hawaii.

2. From where did he buy the bottle?

Ans:  He bought the bottle from an old man.

3. What did that bottle contained?

True

False

True

False

False

Subject: English A

Ans:  That bottle contained an Imp, who could fulfil all the wishes of the one who owned it.

4. What were the two conditions set by the Imp?
Ans:  Following are the two conditions set by the Imp:

1. The bottle must be sold not given away.

2. The bottle must always be sold for less than what was paid for it.



Class: 6t Pink, Green, Blue

Q.1

Q.2

Words meaning
Earth quake
Palm shrub
Fled

Stretch
Padded
Ranks
Cranking up
Re assurance
Protest
Silently

Question answers.

St. Mary’s Convent Girls High School
Unit # 23

The Stone Junk

shaking of earth
Gove of palm
Ran

Spread

to Shut

Groups
Breaking up
making sure

To demonstrate

Quietly

1. What kind of story the earthquake is?

Ans:

The earth quake is a folk story taken from the passage “The stone Junk”.

2. Which kind of trees were growing close to the Arabian Sea?

Ans:

Palm trees were growing close to the Arabian Sea.

3. Which animal was running fast under a palm shrub?

Ans:
4. Why was the hare worried?

Ans:

Hare was running fast under a palm shrub.

Subject: English A

The hare was worried about what would happen to him if the earth were fall to pieces.

5. What did the hare think when the coconut fell down?

Ans:

He thought that the earth was falling into pieces.

6. What did the other hares do while seeing him running?

Ans:

They also started running with him.

7. What was the reaction of the other animals?



Ans:  They also joined the hare.

8. Who made the animals stop running?

Ans:  The lion made the animals stop running.

9. What did the lion find under the coconut tree?

Ans:  He found a ripped coconut fallen from the tree.

10. What did the lion tell the other animals?

Ans:  The lion told the other animals that they all were saved, just because of some miss-understanding

they were miss-led.



St. Mary’s Convent Girls High School
Class: 6 Pink, Green, Blue Subject: English A
Unit# 24
Tales of crime and detections
Q.1  Question answers.
1. How many stories are there in the book called “Tales of crime and detection?
Ans:  There are four well known stories in this book.
2. What is the story about?
Ans:  The story is about a young man living in Paris, who visited a gambling place and won a great deal of
money.
3. Whom did the young man meet?
Ans:  The young man met a stranger who persuaded him to stay in that hotel for that night.
4. What did the young man see on the wall?
Ans:  The young man saw a picture of a Spanish hat with five feathers on the wall.
5. What did he think about himself ?
Ans:  He thought about himself that he was going to be murdered.

6. What was the colour of the feather?

Ans:  The feathers were in white and green colour.



St. Mary’s Convent Girls High School
Class: 6 Pink, Green, Blue Subject: English A
Unit # 26
The troublesome friend

Q.1  Word meaning.

Fellow Companion

Hid Covered

Dare Bravery

Chief Head of the tribe
Private Personal

Meal Food

Permission Allow

Escape To run away

Q.2 Question answers.

1. What is the story about?

Ans:  The story is about a Kashmiri Village Chief and his friend.

2. What did the chief think of his friend?

Ans:  The chief thought that his friend was very greedy.

3. What did the Chief’s friend ask for?

Ans:  He ask for food.

4. Did chief’s wife offered him food?

Ans:  No, she did not offer him food.

5. How did his friend managed to get meal?

Ans:  He killed one of the finest chicken belong to chief and asked his wife to cook for him.
6. What happened when the chief came home?

Ans:  When the chief came home his wife told him each and everything.

7. What was the suggestion given by the chief to his wife?

Ans:  He suggested his wife to put a little amount of chicken in the copper pot for his friend and the rest

should be put in the clay pot for himself.



St. Mary’s Convent Girls High School
Class: 6 Pink, Green, Blue Subject: English A
Unit # 27
First Aid

Q.1  Word meaning.

Occurs To appear / to happen
Damp wet

Breathe Respire

Drain out take out the liquid
Wound Injured part

Treated Cured

Suffocation Finding difficult to breath
Slapping Striking with open hand

Q.2  Fill in the blanks

1. People often suffer from shock after receiving an injury.

2. If you want to call the Ambulance, we dial 15.

3. We should clean the injured area with water.

4. A person bitten by a dog must get to a hospital.

5. A drowning person should be laid with his head lower than the rest of the body.

6. When an accident occurs, do not let other people crowd around the injured person.

Q.3 Question Answers.

1. What is First Aid?

Ans:  The first help, that can be given to an injured person before any other help arrives means first aid.
2. How can you tell that the person is suffering from shock?

Ans: A person suffering from a shock turns damp and cold, the face turns grey and he breathes quickly.
3. Why is it dangerous to make a poisoned person sick?

Ans: Itis dangerous to make a poisoned person sick because the poison would burn his throat as it came
up. Therefore the best thing is to take him to the hospital.

4. Why should you try to find out what kind of poison has been taken, or what kind of snake bit the patient?



Ans: Itis necessary to know that what kind of poison has been taken or what kind of snake bit the patient
in order to help the doctor to give the proper treatment.

5. Why should you place the head of the drowning person lower than the rest of his body?

Ans: Itis important to place the head of the drowning person lower than the rest of his body so that the

water can drain out easily from his lungs.



St. Mary’s Convent Girls High School
Class: 6 Pink, Green, Blue
Unit # 28
The Arabian Nights

Q.1  Word meaning.

Discovered to find out
Decided Determined
Perhaps Probably
Finished Ended
Stopped Seized
Grateful Thankful

Q.2 MCQs

1. There was once a King.

v'a. Persian b. Pakistani c. Indian

2. King’s wife was a woman.

a. Rich v'b. Wicked c. Kind

3. The name of the Persian king was?

a. Akbar b. Jahangir v’c. Sheharyar
4. The daughter of agreed to marry king.
a. Worker v'b. Chief Minister  c. Beggar

5. They got a beautiful

v'a. Son b. Daughter c. Both

Subject: English A

6. When an accident occurs, do not let other people crowd around the injured person.

Q.3  Question Answers.
1. What is the book about?
Ans:  The book is about a Persian king and his wife.

2. Why did the king decide to kill his wife?

Ans:  The king decided to kill his wife because he got to know his wife was a wicked woman.

3. What did the chief minister’s daughter want to teach the king?



Ans: She wanted to teach him that all the women are not wicked.
4. What was the end of the story?

Ans:  The end of the story is that, the king believed that all the women are not wicked.
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Unit # 29
The road safety code
Q.1  Question Answers.
1. What is meant by code?
Ans:  The word code means a set of rules telling what to do and what not to do.
2. What is difference between a pedestrian and loiter?
Ans:  Someone walking on the road is called a pedestrian while a person who moves along the road slowly
making frequent steps is called a loiter.

3. What is the Kerb?

Ans:  The kerb is the edge of the pavement.

Learn any five rules given in the Unit.
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Unit# 30
Sindbad the Sailor
Q.1  Question Answers.
1. Who was Sindbad?
Ans: Sindbad was a sailor.
2. The extract “Sindbad the sailor” has been taken from which book?

Ans: It has been taken from the book called Arabian Nights.

3. What did Sindbad do?

Ans:  He kept on visiting the other countries as well as continue his business.

4. What did he see after climbing on the tree?

Ans: He saw a huge white ball.

5. Which bird was flying toward Sindbad?

Ans:  The most extra ordinary sized “Eagle” was flying towards him.

6. What did Sindbad do to come out from that island?

Subject: English A

Ans:  He put off his turban and tied it with the claws of the eagle and came out from that island.

Q.2  True False

1. Sindbad was a famous sailor.

2. Sindbad decided to spend his rest of life peacefully.

3. Sindbad lived in Baghdad.

4. Sindbad saw lots of diamonds on the floor of the island.

5. A valley is the place between two or more than two mountains.
6. Sindbad gave a great amount to the poor.

7. Eagles use to catch the pieces of meat on those the gold was clung on.

True

True

True

False

True

True

False



Second Term social studies
Class 6 (pink/blue/green)
Chapter # 8

Farming Problems in Pakistan

Words Easy English Meanings
1| Fertility Capable of producing S0
2 | Irrigation Supplying dry land with water b
3 | Water logging Soft and watery soil Ce ) 833 g
4 | Erosion Griding something down by a
5 | Agriculture A large —scale farming SIS Qils

2. Answer these questions.
Q.1 Why do you think mechanization is impractical on small farms?

Ans: Large-scale mechanization is impractical on small plots because of such
problems as turning the equipment round getting from tiny plot to tiny plot. The
headland is wasted as machines take considerable space to turn round-impossible
on the small plots.

Q.2 Why is so much more fertilizer needed on farms today?

Ans: More fertilizer is needed as heavier crops are grown which are expected to
feed increase population.

Q.3 Why do you think Sindh needs more fertilizer?

Ans: Sindh needs more fertilizer than the other provinces because of the greater
use of land for forming, water logging and salinity that have affected the soil.

Q.4 What are the three main problems for agriculture that Pakistan faces?
Ans: Main problems that Pakistan faces with regard to agriculture are:

a) Small farms

b) Low quality seeds

c) Water shortage

d) Water logging and salinity




Q.5:Match the terms for farming problems in column A with their description
in column B.

A B

Spoil erosion Remaining soil and silt

Deforestation Excessive salt content in
soil

Water logging Soil is washed away

Salinity Clearing Earth’s surface of
forest

De-silting Excessive water content in
the soil.

Chapter # 9

Minerals and Energy Resources

Words Easy English Meanings
1 | Minerals Relating to minerals o (e
2 | Valuable Having worth or value Lo i e
3 | Leakage Discharge of a fluid from container Jee 8 Sz )&
4 | Budget A sum of money for particular a8 Ly
purpose
5 | Fireclay A heat resistant clay e

2. Answer these questions.
Q.1 What is Pakistan’s most useful mineral resource?
Ans: Natural gas 1s Pakistan’s most useful mineral resource.

Q.2 What advantages does natural gas has over oil? In what ways is oil more
useful?

Ans: As compared to oil, natural gas is earlier to transport and store especially for
domestic use, it is also cheaper than oil. Oil has more by products in its refining.

Q.3 Which mineral does Pakistan has to import in large quantities? What are
its uses?




Ans: Pakistan has to import oil in large quantities. Oil is used in industries and
transportation. However, oil is also used in many products.

Q.4 What is Pakistan’s own coal not very important in industry at the
moment? Why may it be much more important in the future?

Ans: Pakistan’s own coal is not very important in industry because it is of very low
quality and it produces a lot of polluting sulphur gas and ash when it is burned and
also does not give out much heat. At present Pakistan’s coal is about one third
combustible and can be used only for crude industrial processes such as brick-
making. Coal may become important in future as high- quality coal has been
discovered in Thar.

Q.5 Find out what ‘mica’ is and for what it is used?

Ans: Mica is a mineral which contains silicon. It is used in electrical industries, in
cosmetics, etc. and also as a substitute for glass.

Q.6 Choose the correct answer.

a) Pakistan has reserves of oil. (huge, little, No)

b) High quality coal has been discovered in . (Sui, Thar, Badin)
¢) Natural gas is used as a raw material to make . (Bricks, pottery,
fertilizer)

d) India has the largest reserves of coal in the world. (2", 39, 4t)

e) has the largest reservoirs of oil in the world. (Venezuela, Saudi

Arabia, Pakistan)

f) Pakistan produced cubic meters of gas in 2007. (21 million, 15
million, 41 million)

g) Natural gas turns into under pressure.  (liquid, gas, solid)

h) The salt range in has huge deposit of rock salt.  (Sindh, Balochistan,
Punjab)

1) Beryl is a non-metallic mineral used in (construction, jewelry, oil)



J) Pakistan produces more than India. (oil, coal, natural gas)
Chapter # 10

Power Resources of Pakistan and South Asia

Words Easy English Meanings
1 | Rapidly With fast movement o
2 | Electrify Charge with electricity U g 58 (A
3 | Project Attempted work ~ paia
4 | Capacity Capability to perform e
5 | Resource A source of support )

2. Answer these questions.

Q.1 The actual percentage of power produced by hydroelectric stations is
decreasing. Why do you think this is?

Ans: Power produced by hydroelectric stations is decreasing due to various
reasons, such as decrease in rainfall and snowfall, global warming, dam failure.

Q.2 What other purpose do these great dams fulfill?

Ans: Purposes of dams other than generation of hydroelectricity are irrigation,
reservoirs for water supply, habitat for wild life and to control flooding.

Q.3 Why are the thermal power stations located mainly in southern Pakistan?

Ans: Thermal power stations are located mainly in southern Pakistan so that they
can be near the gas and oil fields.

Q.4 What are the advantages and disadvantages of nuclear power?
Advantages of nuclear power:

Relating low costs
Base lord energy
Low pollution
Thorium
Sustainable

SARE A

Disadvantages of nuclear power:




Expensive to build
Accidents happen
Radioactive waste

Impact on the environment
Limited fuel supply
Security threat

o uhswWwNhE

Q.5 List the names of hydel power stations in Pakistan?
Ans: Pakistan’s main hydel power stations are.

a) Warsak dam
b) Tarbela dam
¢) Mangla dam

Q.6 How life would change in a small village if electricity was brought to it?

Ans: Some of the obvious changes due to electrification in the village would be
better agricultural output because of tube-wells, access to telecommunication and
electronic media, and improvement in living standards, with electricity for
domestic use.

Chapter # 11

Industry in Pakistan

Words Easy English Meanings
1 | Export Sell to abroad LS el s
2 | Import Goods brought from foreign country | LS aal )
3 | Synthetic tangle | Make artificially DL Jee e guan
LS
4| Tangle Something jumbled Lilgadl
5 | Explosion Sudden outburst Jed ASlaad
Exercise:
2. Choose the correct answer.

i) More than ........... Of Pakistan’s exports are agriculture products:




a) 50% b) 75% c) 90%

1) SO are a non- agricultural but high —earning exports product from
Pakistan:

a) Plastic goods b) pharmaceuticals c) synthetic
fabrics

1ii) The raw material for caustic soda and soda ash is:

a) White cement b) Salt c¢) Gypsum

iv) Limestone is the main raw material for ............... manufacture:

a) Cement b) fertilizer c) explosive

V) ceeeerenconnes is the base for many industries like paints, oil refining, dyes, etc.:
a) Clay b) tin c) sulphur

6. Answer these questions.

Q.1 Why is it important for a country to develop as much industry as
possible?

Ans: Developing industry is so much more profitable than agriculture as industrial
products are far more valuable as exports.

Q.2 Why is it a good idea to use as much more-produced raw material as
possible?

Ans: Using home product raw materials (limestone, sulphur, leather etc.) is much
more economical than importing them- oil, steel, machinery, transport.

Q.3 Where are the sulphur mines located in Pakistan?

Ans: The sulphur mines are located in Koh-i-sultan range in Balochistan.

Q.4 Where are the cement- manufacturing plants located in Pakistan?



Ans: The cement manufacturing plants are located in Pakistan in khairpur,
Chakwal, Dera Ghazi Khanand Hub Balochistan.

Q.5 Why does the Government consider cottage and small scale industries so
Important?

Ans: Small scale industries are important because:

a) provide an income in areas where there is little except subsistence
agriculture and,

b) Try to prevent migration to the cities, where there is little accommodation or
work.

Q.6 For which sports in Pakistan world famous? Name some of our players
who are known and recognized all over the world?

Ans: Hockey, cricket, squash, tennis and table tennis.
Chapter # 12

Industry in South Asia

Words Easy English Meanings
1 | Pressure Keep in safety L sins
2 | Tourism Business of providing services to LS Gl
tourist
3 | Rural Relating to countryside (s
4 | Textile Relating to fabric making )5S ) 5
5 | Significant Important in meaning e
Exercise:

2. Mark the following statements as true or false.

1) Sri Lanka’s main agricultural product is wheat. X

i) The economy of Maldives is based on farming. X

1) Tourism is Sri Lanka had been affected by civil war. X

iv) Agriculture in Nepal takes place mainly in the Tarai region. v

v) Tea plantations are cultivated in India and Sri Lanka.




vi) Bhutan has a wide range of industrial products. X
3. Answer these questions.
Q.1 Why is tourism a popular industry in the South Asian states?

Ans: South Asia is a popular destination for tourists, especially from the west
because it is exotic, the climate in many countries are by western standards very
cheap; people enjoy the food the scenic spots and the beaches as well as
antiquities.

Q.2 What do you think low and height means for Maldives?

Ans: The low and height puts Maldives in danger of submersion in case of storms.
The threat of global warming and rising sea levels are a very real danger to
Maldives which is only 1.5 meter above sea level.

Q.3 Which industry in India is the most well-known today?
Ans: Textile and cement industry of India is the most well-known industries.
Short Questions/ Answers

Q.1 Where is the main centers for computers and information technology in
India?

Ans: Bangalore is the main Centre for computers and information technology.

Q.2 What is the percentage of India’s workforce employed in industry and
services?

Ans: 40 percent of India’s workforce is employed in industry and services.
Q.3 List the main exports from Bangladesh?
Ans: i) Jute and jute products.
1) Garment manufacturing
Chapter # 13

The Environment of South Asia



Words Easy English Meanings

1 | Environment The totality of surrounding conditions | Jssk

2 | Equipment To perform a service Y

3 | Household A social unit living together s Sy S8
4 | Recycle Use again after processing S 3 ga 025 Jlaniini

\_11_1.: .JA\‘)\S DJL.}J.J
5 | Ecology The environment as it relates to living | <libs
organisms
Exercise:

2. Fill in the blanks.

1) Ozone layer protects us from the sun’s radiation.

i) Pollution of coastal waters destroys marine life in the seas.
iii) Pollution has made a hole in the ozone layer.

Iv) We can save resources by reusing products such as paper plastic and glass
bottles.

v) In India, as in rivers and lakes are polluted by industrial waste.

vi) Nepal and Bhutan are trying to conserve their forests.

2. Answer these questions.

Q.1Give two example of how old household goods are recycle?

Ans ;) Tins can be melted and metal reused.

il) Paper mashed down and made into more, but coarser paper, usually brown.

1ii) Rags, cloth can be used to make better quality paper, bottles can be melted
down and make more.

Q.2 Can you think of some people who collect material for recycling?

Ans: Old paper, utensils and glass ware re brought by waste dealers who later sort
and sell it as scrap.




Q.3 Name three causes of atmospheric pollution?

Ans: Smoke from factories, motor vehicle exhaust, chemicals from factories,
domestic fire.

Q.4 How does littering affect marine life? How can this be stopped?

Ans: Careless littering of beaches and dumping of waste products and trash into
water sources is not only unsightly but it can also be toxic; it destroys marine life.
Both plants and animals disturb the balance of ecosystem. This can be stopped by
creating awareness among people using these facilities and taking measures to
clean up..

Q.5 What is mean by environment?
Ans: Environment means our surroundings, i.e. the land, water and air around us.
Chapter # 14
The People of Pakistan and South Asia

Words Easy English Meanings

1| Census A periodic count of the population Sl a3 ya

2 | Population The people who inhabit a state s\

3 | Dialects Vocabulary of special group of people | (<l S 8e S
<5

4 | Isolated Mark by separation |50 LS sasile

5 | Literacy The ability to read and write Sl 52

Exercise:

2. Choose the correct answer.

i) The port city of Bangladesh is

a) Khulna b)Sylhet c) Chittagong
1) The population density in Pakistan is per sq. Km:

a) 33.5 b) 670 c) 212.9




1ii) Under-15 population in IS:

a) Bhutan b) Bangladesh ¢) Sri Lanka

Iv) The capital of Maldives is:

a) Moratuwa b) Colombo c) Male
v) Thimphu is the capital of:

a) Nepal b) Bhutan ¢) Kathmandu

vi) The process of counting a country’s population and compiling their details
is called a

a) data base b) census c) record
2. Answer these questions.
Q.1 How do we gather information about a country’s population?

Ans:1) Information regarding a country’s population can be gathered from records
kept and through a census.

Q.2 What are some of the problems of having so many languages in one
country? What language do you speak at home?

Ans: More languages mean more variety in the composition of a country, but each
group gives much importance to its own language, as it is a mark of its identity. In
Pakistan, all languages through spoken differently are written in the same script. In
India, there is great diversity in the range of languages spoken and written and in
the script also, north to south. Secondly, education and official communication
may not be possible in all the generally one official or state language. Our national
language is Urdu so, we speak Urdu at home.

Q.3 The most widely spoken language in the world Chinese. Why do you think
this is so?

Ans: Chinese is obviously the language most spoken in the world, because China
has the highest population for nay country on Earth.



Q.4 What does SAARC stand for?

Ans: SAARC stands for South Asian Association for Regional Cooperation.

Q.5 When and where did the last SAARC meeting take place?

Ans: The last SAARC meeting took place in Pakistan in January 2004.
Chapter # 15

Citizenship, Rights and Values

Words Easy English Meanings
1 | Settlement Colony s JSal
2 | Prosperous Comfortable S
3 | Punctual Perform exactly on time )
4 | Security Being free from danger Gl b ging
5 | Liberty Freedom of choice S 253

2. Answer these questions.
Q.1Why are values important for people?
Ans:i) Values are important and essential of living a pleasant and beneficial life.

Q.2 All religions teach similar values name any three values that are common
to Islam, Christianity and Buddhism?

Ans: Three values that are common to Islam, Christianity and Buddhism are.

) Helping the weak and oppressed.
1)  Respecting difference of beliefs.
1) Valuing life and protecting it.

Q.3 What is the importance of human rights?

Ans: Human rights are for the benefit of all. It helps the people to understand their
rights and also serves as a reminder so that people do not trespass the rights of
others.

Q.4 Name three rights that you think are important for children. Why?




Ans: The right to health, education, family life, recreation and to be protected from
abuse and harm. Because they are necessary for their development age.

Q.5 We have briefly talked about respect for each other and society. Find out
what respect for life, respect for law and respect for the environment mean?

Ans: Respect for life is valuing the life of all living things, not only a prohibiting
on taking life, but the protection and improvement of life for others, respect for law
means obeying the laws of our faith, our country, our community, our school, our
parents, respect for the environment is to protect the environment and make it
sustainable for all and not to harm it.

Section 2: History

Chapter # 22
Mughals
Words Easy English Meanings
1 | Ancestral Inherited 35
2 | Rebel Break with established customs LS Sl
3 | Recapture The act of taking something back Ul g2 o Jlaso
4 | Aggressor Someone who attacks o3l Al
5 | Mint Form of stamping or printing [ECSPEIRTTIS

2. Answer these questions.

Q.1 Why could the scene in the miniature on page 100 never really have been
taken place? What other important ancestor do you think could have been
included?

Ans: The painting could have been done from life as there are over two centuries
between Timur and Jahangir. Perhaps Shah Jahan could merit a place and certainly
Aurangzeb.

Q.2 Why did Sher Shah Suri succeed against Humayun? List some of Sher
Shah’s reforms?




Ans: Sher Shah Suri succeeded against Humayun because Humayun was a weak
ruler and faced opposition from many nobles.

Some of Sher Shah Suri’s reforms

a) Appointment of honest and efficient officials

b) Building the Grand Trunk Road from Peshawar to Bengal.
c) Establishing an effective and mobile army.

d) Reform of the state money system setting up mints.

e) Passing strict but fair laws.

f) Setting up the first real postal service.

Q.3 Do you think Akbar was a popular ruler? Why?

Ans: Akbar was popular ruler because he created a powerful military system and
instituted effective political and social reforms.

Q.4 What was the name of the famous Maratha leader who fought
Aurangzeb?

Ans: The famous Maratha leader, who fought Aurangzeb was shivaji.
Q.5 Aurangzeb ruled over a vast empire. Why did it collapse after him?

Ans: Mughal empire collapse started by Aurangzeb not after him because he spent
so much wealth, Army for the cause that failed miserably lead to weakening of
Mughal Empire.

Q.6 Which one of the Mughal rulers do you find most interesting?

Ans: | find Akbar highly interesting mainly because of his extraordinary
importance in the history of India and religion.

3.Choose the correct answer.

1) The greatest Muslim empire in the subcontinent began under the Mughals
in :

a) 1426 b) 1526 ¢) 1600 d) 1625

i) The Mughal empire was at its largest under:



a) Humayun b Akbar ¢) Aurangzeb

d) Jehangir

1ii) Babur defeated in the battle of Panipat:

a) Sher Shah Suri b) Mahmud Ghaznvi ¢) Ibrahim Lodhi
d) Islam Shah

Iv) The Grand Trunk Road was built by :

a) Akbar b) Nur Jahan ¢) Shah Jahan
d) Sher Shah Suri

v) Akbar was born in1543 at
a) Larkana b) Hyderabad ¢) Bhambore d) Umerkot
Chapter # 23

The coming of the Europeans

Words Easy English Meanings
1| Terrible Causing fear SUd A
2 | Edge The boundary of surface o JUS S mhass S
3 | Sailor Any member of ship’s crew I8 L S jla
4 | Warehouse A storehouse for goods el 8 Jle
5 | Bandit An armed military 53

2. Answer these questions.

Q.1 What were the advantages of taking goods all the way to Europe by sea
rather than by land?

Ans: The advantages of taking goods all the way to Europe by sea are:

1. A greater volume of goods could be transferred in each voyage and fewer
people were needed for this task.

There was less threat of looting.

There was less toll to pay for passing through different countries.

As a result more profit for the merchants.

There was less fear of damage and fragile goods.

AN N




Q.2 Describe the items traded between East and West?

Ans: Textiles, especially silk, jewelry and spics were traded between East and
West.

Q.3 What led to the discovery of the America?

Ans: When the Turks captured central and Eastern Asia. Then European merchants
tried very hard to find new ways of getting to Asia without having to go along the
Silk Road. Scientists were beginning to tell people that the Earth was round like a
ball, and not flat like a plate. Columbus thought that by sailing westwards he could
go right around the world and eventually reach china or India. He did not realize
that the continent of America was in the way, infact, he died without knowing this.

Q.4 How did the west Indies get their names?

Ans: In 1492 Columbus started on his journey across the Atlantic Ocean towards
the west, thinking that he would eventually reach China or India. After a terrible
voyage he reached some Islands which he presumed to be near India and he named
them West Indies. Thus West Indies got its name.

Q.5 Describe Vasco Da Gama’s voyage to India. What did he and his sailors
discover?

Ans: Vasco Da Gama sailed far out to sea instead of sailing along the west coast of
Africa. He and his sailors saw a lot of empty seas. When the fleet reached east
Africa in Mozambic they found an established trade Centre for slaves and gold
control by a Muslim sultan.

Vasco Da Gama and his sailors discovered the ocean route from Europe to
subcontinent.

Q.3 Match the column A with column B

A B
The silk road Trading stations in the east
Christopher Columbus Sailed around Africa, reached
India in 1499
Vasco Da Gama Warehouse for storing goods
Godowns Route used for transport from




China to Europe and back

Factories Discovery of new land across the
Altantic Ocean

Q.4 Complete the statements.

a) The main goods for ancient trade were silk from China and spices from
India

b) The return journey from Europe to East Asia took two years.

¢) When Columbus reached land after sailing across the Atlantic Ocean in
1492, ne names it West Indies.

d) Bartolomeo Dias arrived at the Cape of Good Hope in 1488.

e) The Silk Road trade routes were under Turkish control.

f) The first Europeans to arrive in the subcontinent and last to leave were the

Portuguese.

Chapter # 24
The East India Company
Words Easy English Meanings

1 | fortification Defensive structure consisting of walls | (s 18
2 | Revenue Income by taxation (al
3 | Compel Forcing LS Jsne
4 | Squeeze The act of gripping firmly Ui 500
5| Trial Guilt due the process of law s )S Allae
Exercise:

2. Choose the correct answer.

I) The first charter of the East India Company was granted to the English
merchants on :

a) 3 December 1600 b) 30 December 1500 c) 31
December 1600

i) was the ambassador of King James in 1615:

a) Warren Hastings b) Sir Thomas Roe Cc) Robert
Clive

Iii) The important event in the year 1757 was the




a) Battle of plassey b) Capture of Arcot c) Battle of
Baksar

Iv) was appointed the Governor General of Bengal in 1772:
a) Robert Clive b) Warren Hastings c) William
pilt

V) The French trading station was located at

a) Surat b) Hyderabad ¢) Pondicherry

3. Answer these questions.

Q.1 How did the French and British plan to take control of Indian trade?

Ans: The French and British planned to control the trade by setting up the East
India companies.

Q.2 Robert Clive and Warren Hastings were two important figures in the east
India Company. How did each one strengthen the company?

Ans: Clive mainly strengthened and established British presence in the
subcontinent by military means. Hastings brought in the subcontinent government
in the subcontinent. Warren Hastings is called the founder of British India because
he tried to set up a proper. System of Government and established British rule in
India.

Q.3 What was the role of Mir Jafar in the battle of plassey?

Ans: The battle of Plassey was fought in 1757; Mir Jafar was Siraj’s chief general
and a traitor.

Q.4 What was the effect of the British victory in Bengal?

Ans: The effects of British victory in Bengal were that the east India company
plundered Bengal imposed heavy taxes and extorted bribes from the rich people.

Q.5 Why was Pitt’s India Act important for the Indians and the British?



Ans: Pitt’s India act was important for both Indians and the British because it put
controls on the British east India Company and placed the governance in the hans
of the parliament.

Q.6 Why do you think is Hasting’s called the founder of British?

Ans: Warren Hastings is called the founder of British India because he tried to set
up a proper system of government and established British rule in India.

Chapter # 25

The struggle for freedom

Words Easy English Meanings
1 | victory A successful ending of a struggle e
2 | Defend Arya or speak in defense of US A ls les
3 | Considerable Large in number L
4 | Outrage A feeling of righteous anger ) vl
5 | Atrocity The quality of being cruel aS

2. Answer these questions.
Q.1 What helped the British to win the wars from 1773 to 1849?

Ans: The division between Hindus and Muslims lack of unity and nationalism
helped the British to win the wars from 1773 to 1849.

Q.2 What were the different causes of the war of independence, 18577?

Ans: The causes of the war were political, social, economical, military and
religious. The main event which became the immediate cause of the war was the
refusal of the sepoys to use the grease covered cartridges ( greased with fat of pig
and cow) on February 23, 1857.

Q.3 What was the result of the war of 18577

Ans: The result of the war of 1857 was the effective end of Muslim rule in the
subcontinent.

Q.4 How did the war of the 1857 affect the relationship of British with the
Muslims and Hindus?




Ans: The Muslims bore the brunt of the war, losing their authority almost
completely. The British realize their mistakes and tried to make amends by
bringing in social reforms, eagerly accepted by the Hindus majority, but rejected
by most of the Muslims.

Q.5 Briefly explain the reasons why the Indians did not win the war of 18577

Ans: Indians did not win the war of 1857, because of some reasons.

a) Sudden start of the war in confusion without preparation.

b) Lack of communication among the groups of freedom fighters.

¢) Lack of leaders.

d) Lack of co-ordination scattered uprising.

e) Breakdown of discipline.

f) British refused to appoint Indians to higher military ranks.
Q.3 Fill in the blanks.

1. Haider Ali became the ruler of Mysore in 1761.

2. In the second Mysore war Haider Ali invaded British- controlled carnatic
and defeated all the forces.

3. Haider Ali died in Arcot in 1782.

B

Tipu Sultan was the first to use rockets in warfare.

5. The British became powerful after defeating Napolean at waterloo.

Chapter # 26
The British Power (1858-1905)

Words Easy English Meanings
1 | Monarch A nation’s ruler )\ gl
2 | Censorship Deleting parts of publications U5 gila/l S Cladal
b s
3 | Reforms Make changes for improvement Gl
4 | Taxation Property for the support of S 5 Saile J pana




government Jac

5 | Abolish Do away with U S # suia

2. Answer these questions.

Q.1 How did the altitude of the British change towards the people of the
subcontinent after 185772

Ans: After 1857, the British began to realize their mistakes social, economic and
administrative reforms were introduced. They opened schools and colleges for the
Indians and also appointed them for government jobs.

Q.2 What describe did the British government take after 1857? Why do you
think they did so?

Ans: After 1857, the British government decided to end the East Indians company

and takeover the rule of the subcontinent. The government in London realized that

a private company should not be given such vast powers and that authority must be
invested in the government.

Q.3 List one major reform of each of the Viceroys named here?
Ans: Major reforms of the Viceroys were the following.

1. Lord Canning:
He did not seek revenge on the persons responsible for the
uprisings and tried to sooth bitter feelings on both sides.

b) Lord Mayo:
He made financial and educational reforms.
c) Lord Lytton:
He improved the roads, railways, the irrigation and taxation system.
d) Lord Ripon:
He framed better laws.
e) Lord Dufferin:

He set up the Indians National Congress in 1885.




f) Lord Curzon:

He brought improvement in the fields of educational reforms
and preservation of valuable cultural heritage.

Q.4 Match names/events in column A with correct detail in column B.

A B
Lord Lytton First viceroy after war of independence
Lord Mayo Included Indian nominees
Lord Curzon Roads and railways
Lord Dufferin Improved education, preserved heritage
Lord canning Financial, educational reforms
Viceroy’s council, 1861 Indian National Congress, 1885

Chapter # 27

The rise of the Muslims:

Sir Sayyed Ahmed Khan

Words Easy English Meanings
1 | Considerably To a great degree S s,
2 | Foremost Ranking above all others R Jlies
3 | Prominent Out standing il
4 | Supporter A person who backs a team R0
5 | Establishment The act of forming Jsis

2. Answer these questions.
Q.1 Why did Muslims lag behind in progress?

Ans: The Muslims lagged behind in progress because initially they had rejected the
western education and as a result could not acquire good jobs. They were left with
low-paid jobs and could not participate in the government of compete with the
Hindus.

Q.2 What were Sayyid Ahmed Khan’s views about education? What steps did
he take in this regard?




Ans:Sir Sayyid Ahmed Khan tried to high light the importance of education and
modern science and knew that Muslims could not progress without knowledge. He
tried to stop the Muslims opposing the British. He also tried to make the British
realize that they were being unjust to the Muslims.

Q.3 Make a list of our leaders who studied at Aligarh?

Ans: Some of the notable political names are Maulana Mohammad Ali Jauhar,
Khan Abdul Ghaffar khan, Liaquat Ali Khan, Khawaja Nazimuddin and among
intellectuals, Shanul Haq Haqqgi and Mushtaq Ahmed Y ousufi.

Q.4 Find out the names of books written by sir Sayyid Ahmed Khan?

Ans: Some of the books written by Sir Sayyid Ahmed Khan are Aasaar-ul-
Sanadeed, Asbab-e- Baghawat-e-Hind, Taareekh-e-ZilaBijnor; Tahzeebul Akhlaq
and contributed to the leading papers of his time.

Q.3 Fill in the blanks.
1. Sir Sayyid Ahmed Khan was born in 1817 in Delhi.

2.He became a judge in the Delhi in 1846.

3. Aligarh university was earlier known as the Mahammadan Angelo-Oriental
college.

4. Sayyid Ahmed Khan was awarded a Knighthood in1988.

5. Sayyid Ahmed was the author of many books in Urdu and English.

4. Choose the correct answer.

1) The Muslims suffered a setback after:
a) The defeat in 1957

b) The Mysore Wars



¢) The end of the East India Company

i) The Hindus were able to get good jobs because:
a) They were good at business

b) They obeyed orders

¢) They acquired education

1i) Sir Sayyidwasa __ of western education:
a) Founder

b) Supporter

¢) Opponent

iv) Sir Sayyid’s demand for separation of power among Muslims and Hindus
led to the:

a) Two-nation theory
b) Simla Agreement

¢) India Act,1858





